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- Which is the ‘odd one out’: 0-1, 116 10%, 0-017?

2
. Is 10 the same as 2% or 20%? e
. What is the perimeter of a rectangle 8cm

that measures 12cm by 8cm?
How many right angles in a complete revolution (turn)? .-+
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If 1% of my money is 70 cent, what is 5% of my money?

My house is zkm from the school. If | walk to school and
home again every day, how many kilometres have | walked by
the weekend?

A train departed from Dublin at 21.45hrs and arrived in
Limerick at 00.30hrs. How long did the journey take?

How many sweets can | buy with €1, if | can get 6 for 20c?

A shopkeeper bought a box of 20 chocolate bars for €2.

He wishes to make a profit of 5¢ on each bar.
At what price must he sell a bar?

This is the net of which 3-D shape

(cone, cylinder, sphere)?
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10.

How much is 5% of €17?

A tin of sweets weighs 2kg. The empty tin weighs 1zkg.

What is the net weight of the sweets (ie the sweets only)?
The passenger train from Dublin to Mullingar takes 1 hour 20
minutes. If the train left Dublin at 22.45hrs, at what time did it
arrive in Mullingar?

Reduce two hundred thousand by ten thousand.

What is the most common two-dimensional (flat) shape in

your classroom? 4cm

What is the perimeter of a quadrilateral /__\mm
which has these measurements?  >8cm

10cm

Ham costs €5 az kg. What will 250g cost?

Is 1‘% the same as 4% or 40%?
The artist Pablo Picasso was born in 1881 and died in 1973.

What age was he then?
What is the cost of two tennis rackets at €5.90 each?
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